. Which term represents a type of nuclear reaction?
A) condensation

B) vaporization

C) single replacement

D) natural transmutation

. Which term identifies a type of nuclear reaction?

A) transmutation
C) deposition

B) neutralization
D) reduction

. In which type of reaction is an atom of one element
converted to an atom of a different element?

A) decomposition
C) saponification

B) neutralization
D) transmutation

. Given the nuclear equation:

35°Es + X — fn + 33¢Md
Wh1ch particle 1s represented by X ?

A)sHe B) _fe (C)on D) e

. Which equation represents the radioactive decay of
226Ra?

A) 33%Ra — 22°Rn + §He
B) 2°Ra — §3°Ac+ 2

C) 3°Ra — F°Fr + G

D) §§6Ra — 22°Ra—|— o

. Given the fusion reaction:

H + ?H — X + energy
Which particle is represented by X?
A)iH  B)3He ()3iH D) 3He

. Given the equation:

¥N+ 3He —» X + {70
When the equation is balanced correctly, which
particle 1s represented by X?

A)%e B)yiH () iH D)

8.

10.

11.

12.

13.

Given the nuclear reaction:

S+ ln— 1H+ X

What does X represent in this reaction?

A) 1P B) 5P (C) 3P D) %P
. In the reaction:
IBe + X — §Li+ 3He
The X represents
A) Yie B)yitH () %e D)n
Given the correctly balanced nuclear equation:

20+ 39Ct - B7Unq + 4X

Which particle is represented by the X?
A)il  B) i  C)sHe D)2

Which reaction is matched correctly with the particle
represented by letter X?

A) #°Ra — ZF°Rn + X; X isan alpha particle.
B) 234Th — 234Pa + X; X is an alpha particle.
C) 33°Th — Z°Ra + X; X isabeta particle.
D) $*U — §°Th + X; Xisabeta particle.

Given the nuclear reaction:

IBe+ X — {2C+ {n

What is the identity of particle X?

A) alpha particle
C) proton

B) beta particle
D) neutron

In the equation:
239Th — 239Pa + X

The symbol X represents

A) %ie B)%ie C)on  D)iH




14.

15.

16.

17.

18.

19.

Given the reaction:
3Li + X — 8Be

Which species is represented by X?
A) hH B) 21H C) 3:He D) “He

In the equation:
2349 Pa 234U + X

The Xrepresents a

A) helium nucleus B) beta particle
C) proton D) neutron

Given the reaction:

Al + JHe — X + |n

When the equation is correctly balanced, the nucleus
represented by X is

A) A1 B) fiSi C) 1P D) %S

According to the equation:

X — 205Pb + 4He

The nucleus correctly represented by X is
A) ¥'Hg B) §i*Po C) §'Bi D) §i°Pb

Given the reaction:

9Be + IH — 4He + X

Which species is represented by X?
A)SLi  B)SLi () 5B  D):'B

In the equation:

3RA — 2°Rn+ X

X represents

A) a neutron B) aproton
C) abeta particle D) an alpha particle

20.

21.

22.

23.

24.

Given the reaction:

24Py 5 X 1 00

When the equation is correctly balanced the nucleus

represented by X is

A) 55U B) 53°U
Of ! D) 3T
Given the equation:

IF - 150 + X

Which symbol, when substituted for X, correctly
balances the equation?

A)iH By () % D)See

In the reaction:

Be+ X — 2C+ {n

The X represents

A) an alpha particle B) a beta particle
C) an electron D) a proton
Given the nuclear reaction:

IN 4+ 4He — 1H + X

Which isotope is represented by the X when the
equation is correctly balanced?

A) 30 B) 0 () §'F D) °F

In the reaction below

PAs + X — BBr + {n

X represents

A) an alpha particle B) a beta particle
C) aproton D) a triton




25. Aluminum-27 is bombarded with alpha particles
according to the following nuclear equation:

2TAl + 3He — X + {n
The radioactive element represented by X is an
isotope of

A) zinc B) phosphorus
C) sulfur D) sodium




